
Chapter 24

Gauss’s Law. Solutions of Selected
Problems

24.1 Problem 24.7 (In the text book)

A pyramid with horizontal square base, 6.00 m on each side, and a height of 4.00 m is placed
in a vertical electric field of 52.0 N/C. Calculate the total electric flux through the pyramids
four slanted surfaces.

Solution

Since the pyramid’s base is horizontal and the electric field is vertical, then the electric flux
that goes through the slanted surfaces of the pyramid must also go also through the base
(the lines get in through the slanted surface and get out through the base or in from the
base and out through the slanted surfaces). Consider former case, the electric field and the
base’s normal are antiparallel, so the flux through the base is then given by:

Φe = EA cos θ = EA cos 180 = −52.0× 6× 6 = −1.87× 103 N ·m2/C

So the flux through the slanted surfaces is + 1.87× 103 N ·m2/C
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24.2 Problem 24.19 (In the text book)

An infinitely long line charge having a uniform charge per unit length λ lies a distance d from
point O as shown in Figure (24.19). Determine the total electric flux through the surface
of a sphere of radius R centered at O resulting from this line charge. Consider both cases,
where R < d and R > d.

Figure 24.19:

Solution

If the radius of the spherical surface is R ≤ d then the sphere does not enclose any charge
and the net flux through is:

Φe =
qin

ε◦
= 0.

d 

0.5 l
R

Figure 24.20:

If, however, R > d then there will be a part ` of the charged
line that lies within the sphere, ` is given by (see Figure
(24.20)):

` = 2
√

R2 − d2

and the the electric flux ΦE through the spherical surface is:

ΦE =
qin

ε◦
=

λ`

ε◦
=

2
√

R2 − d2

ε◦
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24.3 Problem 24.35 (In the text book)

A uniformly charged, straight filament 7.00 m in length has a total positive charge of 2.00
C. An uncharged cardboard cylinder 2.00 cm in length and 10.0 cm in radius surrounds
the filament at its center, with the filament as the axis of the cylinder. Using reasonable
approximations, find

(a) the electric field at the surface of the cylinder and

(b) the total electric flux through the cylinder.

Solution

The approximations that we need to use to solve these problem are:

1. The electric field within the length of the cylinder is uniform, this is normally the case
if the cylinder’s length is much smaller than the charged filament’s length.

2. The cardboard cylinder does not disturb the electric field or the charge distribution
along the filament.

(a) The electric field produced by the charged filament emanates radially outward. It can
be show that at a point a distance r away from the filament the electric field is:

E = 2ke
λ

r

where λ is linear charge density of the filament. So,

E = 2ke
q

`r
= 2× 8.99× 109 × 2.00× 10−6

7.00× 0.100
= 51.4× 103 N/C

(b) The electric flux is perpendicular to the surface and parallel to the the normal to the
surface, so the flux is:

ΦE = EA cos θ = E×(2πr`)×cos θ = 51.4×103×(2π×0.100×0.020)×cos 0 = 646 N ·m2/C
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24.4 Problem 24.45 (In the text book)

Two identical conducting spheres each having a radius of 0.500 cm are connected by a light
2.00-m-long conducting wire. A charge of 60.0 C is placed on one of the conductors. Assume
that the surface distribution of charge on each sphere is uniform. Determine the tension in
the wire.

Solution

The charges on the charged conducting sphere are mobile. The charges will then flow through
the conducting wire from the charged sphere to the uncharged conducting sphere. The charge
flow will continue until the total charge is divided equally among the two identical spheres.
Now, the two sphere are charged with similar charge Q/2, so they repel each other, like point
charges at their centers, extending the wire and putting it under tension. The tension in the
wire is then determined by the Coulomb force of repulsion between the spheres, i.e.

T = FE = ke
q1q2

r2
= ke

(Q/2)× (Q/2)

(L + 2R)2
= ke

Q2

4(L + 2R)2

and

T = 8.99× 109 (60.0× 10−6)2

4× (2.00 + 0.01)2
= 2.00 N
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24.5 Problem 24.68 (In the text book)

A point charge Q is located on the axis of a disk of radius R at a distance b from the plane of
the disk (Figure (24.68)). Show that if one fourth of the electric flux from the charge passes
through the disk, then R =

√
3b.

Figure 24.68:

Solution

The total flux produced by the charge is, according to Gauss’s law, is Q/ε◦. Only one quarter
of this flux passes through the disk. The flux through the disk is given by:

Φdisk =

∫
E · dA

where the integration cover the entire area of the disk. Evaluating this integral and set it
equal to Q/4ε◦ relates b to R. As shown inFigure (24.69) we take dA to be the area of
annular ring with radius s and width ds. The electric field at the ring make an angle θ with
the normal to to the ring, the flux through the ring is:

dΦring = E · dA = E dA cos θ = E(2πsds) cos θ
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P24.66 The electric field throughout the region is directed along x; therefore, E will be
perpendicular to dA over the four faces of the surface which are perpendicular
to the yz plane, and E will be parallel to dA over the two faces which are parallel
to the yz plane. Therefore,

ΦE x x a x x a c
E A E A a ab a c ab abc a c= − + = − + + + + = +

= = +e j e j e j a fe j a f3 2 3 2 2 22 2 .

Substituting the given values for a, b, and c, we find ΦE = ⋅0 269.  N m C2 .

Q E=∈ = × =−
0

122 38 10 2 38Φ . . C  pC

FIG. P24.66
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P24.68 The total flux through a surface enclosing the charge Q is 
Q
∈0

. The flux through the

disk is

Φdisk = ⋅z E Ad

where the integration covers the area of the disk. We must evaluate this integral

and set it equal to 
1
4

0

Q
∈

 to find how b and R are related. In the figure, take dA to be

the area of an annular ring of radius s and width ds. The flux through dA is
FIG. P24.68

E A⋅ = =d EdA E sdscos cosθ π θ2b g .

The magnitude of the electric field has the same value at all points within the annular ring,
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Integrate from s = 0  to s R=  to get the flux through the entire disk.

ΦE

R R
Qb sds

s b

Qb
s b

Q b

R b
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∈ +
=

∈
− +L
NM

O
QP =

∈
−

+

L

N
MMM

O

Q
PPP

z2 2 2
1

0 2 2 3 2
0 0

2 2 1 2

0 0 2 2 1 2e j
e j

e j
The flux through the disk equals 

Q
4 0∈

 provided that 
b

R b2 2 1 2
1
2+

=
e j

.

This is satisfied if R b= 3 .

Figure 24.69:

The magnitude of the electric field has the same value at all
points on the ring, i.e.

Ering =
1

4πε◦

Q

r2
=

1

4πε◦

Q

s2 + b2

in addition:

cos θ =
b

r
=

b√
s2 + b2

So, the flux through the ring becomes:

dΦring =
Qb

2ε◦

s

(s2 + b2)3/2
ds

To get the flux through the entire disk we integrate dΦring

from s = 0 to s = R:

ΦE,disk =

∫ R

0

dΦring =
Qb

2ε◦

∫ R

0

s

(s2 + b2)3/2
ds =

Qb

4ε◦

∫ R

0

2sds

(s2 + b2)3/2

T carry out the integration, let us change variables to x = s2 + b2, so dx = 2sds. When
s = 0, then x = b2 and when s = R, then x = R2 + b2, we then get:

ΦE,disk =
Qb

4ε◦

∫ R

0

2sds

(s2 + b2)3/2

=
Qb

4ε◦

∫ R2+b2

b2

dx

x3/2

=
Qb

4ε◦

∫ R2+b2

b2
x−3/2dx

=
Qb

4ε◦

[
x−1/2

−1/2

]R2+b2

b2
=

Qb

2ε◦

[
− 1√

x

]R2+b2

b2

=
Qb

2ε◦

[
−1√

R2 + b2
+

1

b

]
=

Q

2ε◦

[
1− b√

R2 + b2

]
Since the flux through the disk is already given by Q/4ε◦, then:

Q

4ε◦
=

Q

2ε◦

[
1− b√

R2 + b2

]
and we get:

4b2 = R2 + b2 or R2 = 3b2 and R =
√

3b
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